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A= 1 —A 0.000000 0.000000
A0330  (EIIEH(H) A= 1 —B(EE) 0.000561 0.000561 100.00
(éﬁ%ﬁ VEEESK 0.000560 0.000560
A= 1 —A 0.000000 0.000000
) A=1—B 0.000000 0.000000
A0332  |(F%)PinT HE TR E) 0.000369 0.000369 100.00
(%%ﬁ)%%%‘@ﬁt 0.000367 0.000367
A= 1 —A 0.000000 0.000000
A0336  [(#k)HBAHR=a2—/T— A =1 —B(%%) 0.000452 0.000452 100.00
(BEE)EXELRRK 0.000438 0.000438
A0337  [#REAELHT(¥E) 0.000341 0.000341 100.00
A0338 [Tyt i wILIFT—(#%) 0.000610 0.000610 100.00
A0342 (B)WbEEEXRHE 0.000553 0.000553 100.00
A0343 ()7 Bo—nN—-FH/0>—X 0.000232 0.000232 —
A0344  (BEE AR (#) 0.000341 0.000341 100.00
A=a1—A 0.000000 0.000000
A0345  [WAERA X (#) A= a1—B(EE) 0.000331 0.000331 100.00
(BEBEEEEK 0.000282 0.000282
A0348  |[BBREAEAIFS—(%) 0.000493 0.000493 100.00
v L\ )
A0349  |(H)T7I* 0.000534 0.000534 97.57 §§§§§§g§w6$¥%b
A0350  |ZHADIL S/8T7—() 0.000437 0.000437 100.00
A0351  |(#%)CHIBAG D EhI+o— 0.000344 0.000344 100.00
A0352 |(#)BAFEZEER 0.000513 0.000513 100.00
A0353  |RIHEEFHH) 0.000486 0.000486 100.00
A=a—A 0.000000 0.000000
A=—31—B 0.000000 0.000000 . o
A0355 | L L(k)(1B:sh R E (k) FELTE 0.000000 0000000 99.68 L’Eﬁgf_‘ggﬁw$¥%” D%
A= 1 —D(EE) 0.000439 0.000439 =
(BEE)EXELRK 0.000298 0.000298
A0356  |(H)BEFERIRILF— 0.000434 0.000434 100.00
A0360  [FBE—/LYYa—3 Y—EX(K) 0.000389 0.000389 100.00
A0362  |(#)CWS 0.000375 0.000375 100.00
A0364 | 5< LEHBEHE) 0.000453 0.000453 97.46 %%ﬁggﬁ@g#ﬁb‘ 20%
A=a—A 0.000000 0.000000
A0365 T4 —HvaBRRM A= 1 —B(EE) 0.000447 0.000447 100.00
(BEBEEELNR 0.000439 0.000439
A0366  |(BR)IRIRSATH—ER 0.000369 0.000369 —
A0367 |4 Fr—IF C—IhE(H) 0.000460 0.000460 100.00
A0368 ) TRINT—34 Z b (#) 0.000373 0.000368 100.00
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UNTTEREES]
_ - T EGFLRE | BEEHDRE | 5ERE0 . _
E88S BIEXES *=a1-% (tCOL/KWh | (-CO/kWh) | IEER%) IBBTERD SIS
X=2—A 0.000386 0.000000
A0369 |RE#MEEHRMLE A= 1—B(EE) 0.000333 0.000333 100.00
(BEE)EXELRK 0.000333 0.000333
AOST1 | TFILF—/8T— () 0.000547 0.000547 7365 |ERNBBUORRENSOZ
A0372  |(BE)Y Y LR/ST— 0.000469 0.000469 8300 |NZ¥¥¥TIIN—TADHE
ZED®H
_ A=2-A 0.000000 0.000000
DA Cyy 92—
A0373  |BATFLUTF4 - Y a—3 a3 () SR EEER Saaaaes Sooaees 100.00
A0377_ |4/ Ao R 0.000104 0.000104 100.00
A0378 | A A (BE) 0.000341 0.000341 100.00
A0380 |BEHRBEIFS—(#) 0.000150 0.000150 84.95 %i¢:g§ﬁw$;%m5®§
A=1-A 0.000000 0.000000
A0381  |ERSAE(EE) AT UBEE) 0.000820 0.000820 100.00
BEEEEELH 0.000206 0.000206
A=1—A 0.000000 0.000000
A0382  |O—HILTAEH) FE T IREE) 0.000396 0.000396 —
BEEEEELH 0.000379 0.000379
A0383__|(H)BAEE 0.000461 0.000461 100.00
A=1-A 0.000000 0.000000 o ‘
A0385  |MILITE A (H) FETBEE) 0.000507 6.000507 92.78 %%;’_‘gg{‘ﬁ”g*%b‘ Lo
BEEEEELH 0.000489 0.000489 -
A=A 0.000000 0.000000
A0386 |35 T(#) BB 0.000000 0.000000 —
(BEE)EXE2R 0.000000 0.000000
A=1—A 0.000000 0.000000
o FZTTR 0.000000 0.000000
0388 |RRTF I—(H) AT CHRE) 0.000501 0.000501 100.00
(BEEEEELH 0.000494 0.000494
A0389  |5F EFIRLF—(H) 0.000474 0.000474 94.04 %ﬁf_‘ggﬁ"gi%‘”b”%
REBEEERAL T SBRED
A0391  |HDTHILF—(H) 0.000478 0.000478 253 |bOEENHB I, =BG
DELEBEENH B8
FEEy 0.000000 0.000000 " ~*
A0392 | (k) i 0.000000 0.000000 93.62 %%gggﬁw$¥%h\ 0%
(BEE)EXELRK 0.000000 0.000000 -
A0396 | TR7—TF O— 0.000206 0.000206 100.00
A0397  |[ZMERIRILF¥—(¥) 0.000341 0.000341 100.00
A0398 _|Apaman Energy () 0.000600 0.000600 100.00
FEEy 0.000000 0.000000
A0403 | KHH—T LT LI L) iy 0.000517 0.000517 100.00
(BEE)EXELRK 0.000517 0.000517
A=—1—A 0.000000 0.000000
pr—" 0.000000 0.000000
A0405 |FARR YT A - THLE—(R) F =T CEE) 0.000407 0.000407 -
(BEE)EXEL2RK 0.000398 0.000398
A0406  |EEBRMEI—TH5 L 0.000225 0.000225 100.00
A0407 _|ALL GREEN POWER(H) 0.000343 0.000343 100.00
AVA11 [T BAHE) 0.000582 0.000582 100.00
A0413 | (B)MKT )L %— 0.000595 0.000595 100.00
X=2_A 0.000000 0.000000
A0415 I35k A =1 —B(%&%) 0.000465 0.000465 100.00
(BEE)EXEL2RK 0.000465 0.000465
A0A18  [BiE™ & — 4 —(H) 0.000410 0.000410 100.00
X=—2—A 0.000000 0.000000
" 0.000306 0.000306
— S
A0S 1A= RIFI—EEE) H =T E) 0.000341 0.000341 100.00
(BEE)EEXELRK 0.000332 0.000332
A0420  |Z25%1F YUy FERSH 0.000465 0.000465 100.00
A0425 | FL— F(&) 0.0004293% 0.000429%¢ —
A0429  |= L L5 () 0.000598 0.000598 100.00
Py 0.000000 0.000000 " -
A0430  |(BE)& < HEHEN ey 0.000546 0.000546 89.59 %3&;;&}&?1@@$;%;§\wa:
(BEE)EXELRK 0.000509 0.000509 B
AV431 [T E—F v T 0.000191 0.000191 100.00
A0435  |L\Z EHE/ ST —(H) 0.000481 0.000481 s0gg |ERNBBEOERENSOZ
A=1-A 0.000000 0.000000
A0437 |4 TH LILF(HE) F T UREE) 0.000091 0.000091 100.00
BEEEEELH 0.000000 0.000000
A0438__ |EEET A A () 0.000363 0.000363 100.00
A0439 | EEAA(H) 0.000341 0.000341 100.00
A=1—A 0.000000 0.000000
A0440  |BAREHHKNIE : REAHR (). BREAR). LEAHRH) (X = 0—bB(AE) 0.000382 0.000382 100.00
BEREEELH 0.000380 0.000380
A0442  |(B)VTFR SRR 0.000370 0.000370 23.85 %%ﬁggﬁw$¥%h‘ BN
A0443 [T —F DR (H) 0.000570 0.000570 100.00
— BRENIRBEOEEELISOH
A0446  |JPTHILE—() 0.000601 0.000601 ores (EAVATEDS

G BEICEDDITAICKI > TEHUILKR, BRELCE OCRERFBREECIHBERBBRMCABEZER.
(=) RBEZER. FLLEERFLRIANNBETHIBESHSOZESNRITENEE LO>EED. BERDELNEE.



12/17

[IVFEEREES]
= = - _ EREEBHRS BERELRE | g=g30 < =
E88S BIEXES *=a1-% (tCOx/KWh) | (-COn/kWH | TEER(%) IBBTERD SIS
A0447  |EEEBH(EK) 0.000556 0.000556 100.00
A=a1—A 0.000000 0.000000
A0448 | KMISA TITFTT (%) A= 1—B(EE) 0.000289 0.000289 100.00
(BEB)EEEEK 0.000287 0.000287
A0451  [CocoT 5 R f=h¥h(#k) 0.000490 0.000490 100.00
A0452 |HABHIFS—rL—TFT125(#) 0.0004293% 0.0004293 —
A0453  |(BREEBETYA Y 0.000416 0.000416 100.00
A=a1—A 0.000000 0.000000 e L
A0454  |(Hh)E B REUMER F LB 0.000634 6.000634 98.53 %%?)ggﬁ@$¥%”b”’§
(BEE)FEEELRK 0.000595 0.000595 B
A0455  |TRENDE(#£) 0.000669 0.000669 100.00
A=a1—A 0.000000 0.000000
A0456  ((BR)ESAT/HT— A= 1—B(EE) 0.000611 0.000611 100.00
(BEBEEEEK 0.000608 0.000608
A0457 FU=ZF 1 THT—(%) 0.000563 0.000563 100.00
A0458 [TV T7—LRFIFS—(#) 0.000527 0.000527 100.00
A0461  |(#)LIXIL TEPCO RY¥— k/¥— F+—X 0.000432 0.000432 100.00
A0463  |(#k)NEXT ONE 0.000500 0.000500 50.63 %?‘;fggﬁwgiﬁﬁ‘ b0z
A0465  [(BR)LEHS 0.000474 0.000474 100.00
A0467  |(B)FILTFIA X 0.000445 0.000445 984 |NZX¥YTTIN—TADRE
ZED=®H
A0468 | BETHEBRATY—FIRILF—(}) 0.000569 0.000569 100.00
A0470  [BELbHI—TIFT—(#) 0.000663 0.000663 100.00
A0471  |AEEMIE T RILF— (%) 0.000373 0.000373 100.00
A0472  [BLhRITH R (1) 0.000557 0.000557 100.00
A=a1—A 0.000124 0.000000
A0473  |(#)T+—/NLTFLOL A= a1—B(EE) 0.000499 0.000499 100.00
(BEBEEEEK 0.000495 0.000494
A0476  ((B)R FIFx (B:(BK)TF5>T—4) 0.000303 0.000303 178  |BGHELENKEBED =&
A0477 {BHIRILF—(1]) 0.000550 0.000550 100.00
A0480  |#ABR¥TE S (%) 0.000413 0.000289 100.00
A=a1—A 0.000000 0.000000
o .. A=21—B 0.000000 0.000000 NSV T T L—THORE
—_) YA —_
A48T |Ea—Uw Y TRRT VY 2= a2 F =T R E) 0.000463 0.000463 9912 pf
(BEE)EXELRK 0.000344 0.000344
A0482  |EIBEH () 0.000560 0.000560 100.00
A=a—A 0.000000 0.000000
A0490  ((B)CDIFP—HA LYk A= 1 —B(EE) 0.000322 0.000322 100.00
(BEE)EXELRK 0.000298 0.000298
A=a1—A 0.000000 0.000000
. A=21—B 0.000324 0.000324 FRENIRBEOEEENLDZ
A0491  |QENESTTA = (#) A= a1 —C(BRE) 0.000328 0.000328 B8 \FZptw,
(BEE)EXELRK 0.000337 0.000337
A0493  |(H)RACHBEDIFS— 0.000485 0.000485 93.96 %*ﬁ;’jggﬁ@g*%” bDE
A0494 |4 T aF ) —RT—() 0.000349 0.000349 100.00
A0495  |HBATFP—(%) 0.000275 0.000275 100.00
A=a1—A 0.000000 0.000000
A0499  (EXREH(#) A= a1—B(EE) 0.000341 0.000341 100.00
(BEBEEEEK 0.000336 0.000336
‘os A=1—A 0.000211 0.000211
Al SN FD :
0500 |[(H)TR-ELayv EEEFEESE o o051 S o051 100.00
A0501 AR =& #) 0.000341 0.000341 100.00
A0502  |(HE)w L 0.000552 0.000552 47.87 %%ﬁfggﬁwi#%h\ D%
A=a1—A 0.000000 0.000000
A0503 | KEEHR(H) A= 1 —B(EE) 0.000446 0.000446 100.00
(BEE)EXELRK 0.000440 0.000440
A=a1—A 0.000000 0.000000
A=—31—B 0.000000 0.000000
A=31—C 0.000000 0.000000
A=31—D 0.000000 0.000000
A=a1—E 0.000000 0.000000 " o
A0506 |85 EH(H) FELE 0.000534 0000534 99.34 %%?fggﬁ@$¥%”bwi‘
A=a1—G 0.000423 0.000423 e
A=a1—H 0.000400 0.000400
A=a—| 0.000463 0.000463
A= 1 —J(FEE) 0.000584 0.000584
(BEE)EXELRRK 0.000497 0.000497
A=a1—A 0.000000 0.000000 L R
A0507  |a—TEAH) 1 ) 0.000432 0.060432 45.03 %ﬁg%ﬁg”$¥%””’”§
(BEB)EEEER 0.000421 0.000421 B
A0508  |[4EHBEAMEI—TCAE 0.000225 0.000225 100.00
A0509 EHEQ—THEERRMAS 0.000225 0.000225 100.00
A0510 WED Ea—TEFRRMES 0.000225 0.000225 100.00
A0511  |BRAASDS ETHT—(%) 0.000508 0.000508 100.00
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[IVFEEREES]
sRES BEERES XZ2-8 T | REELAN | Eane | EETIED KBS
A=a2—A 0.000040 0.000040
A0513  |(Bk )P # A= 1 —B(EE) 0.000525 0.000525 100.00
(BEE)EXELRK 0.000520 0.000520
A=a1—A 0.000000 0.000000
A0514 | ShvioessD —(#) A= 1 —B(EE) 0.000398 0.000398 100.00
(BEE)EXELRK 0.000384 0.000384
A0515  |(#)Link Life 0.000505 0.000505 100.00
A0518  |[(#)F B—/N\LF¥ ¥ R b 0.000341 0.000341 100.00
A=a1—A 0.000000 0.000000
A=—31—B 0.000042 0.000042
A=31—C 0.000152 0.000152
A0519 BARIRILF—RESRT LK) A=a2—D 0.000175 0.000175 100.00
A=a—E 0.000263 0.000263
A= 1 —F(5%E) 0.000507 0.000507
(BEE)EXELRK 0.000418 0.000418
A0520 173 ZHKE#) 0.000341 0.000341 100.00
A= 1 —A 0.000203 0.000203
_ A=31—B 0.000000 0.000000
ADS25 ()L B EDRREN A= 1 —C(EE) 0.000211 0.000211 100.00
(BEE)EXEL2RK 0.000203 0.000203
A0526 [BAHARTFO—(#) 0.000341 0.000341 100.00
A=a1—A 0.000000 0.000000
. A=31—B 0.000123 0.000123
A0528 ()T HT7 ¥k A= 1 —C(EE) 0.000176 0.000176 100.00
(BEE)EXERRK 0.000174 0.000174
A0529  |(#R)IRIFP— 0.000477 0.000477 100.00
A=a1—A 0.000000 0.000000
PR A=31—B 0.000296 0.000296 CREBEEERATASEEEND
A0533 | RARHRE1(#) FEZTCHEE) 0.000312 6.000312 9203 pmETHHLD
(BEE)EXERRK 0.000209 0.000209
A0534  |HELIFT—(#k) 0.000373 0.000373 100.00
A0538  |#3/— b F—X(#) 0.000606 0.000606 100.00
A0539  |(#)karch 0.000417 0.000417 100.00
A0543  |(#)h#H TABILAH 0.000571 0.000571 100.00
A0546 ()= uFEDLYITFT— 0.000387 0.000387 100.00
A0547  [(BR)BREMZEH 0.000250 0.000250 100.00
A0549 (S IRILF—(%) 0.000565 0.000565 100.00
A0550 |(B)T B4 0.000377 0.000377 0.00 |BGHRLENRBIED =8
. A=a2—A 0.000339 0.000339
A0S51 BEELICIRAMRK) (BEE)EXELRK 0.000339 0.000339 100.00
A0552 (41 D4 —RH(#E) 0.000341 0.000341 100.00
A=a—A 0.000300 0.000300
. Ssaen A=31—B 0.000400 0.000400
A0S53 | Tz L R (i) HE TG RE) 0.0004265%¢ 00004295 -
(BEE)EXELRK 0.000429% 0.0004293%
A0555  |FHEREAKER) 0.0004293% 0.0004293% —
A=a1—A 0.000000 0.000000 .
AO556  |B#RAH 2 (BE) gy 0.000495 0.000495 99.64 ﬁ%‘gﬁgg@@g#gm D%
(BEEEEESH 0.000229 0.000229 =
A0558  [3RF H X (#) 0.000366 0.000366 100.00
A0559  [(#)TRBE v 0.000299 0.000299 100.00
A0560  |(H)TL - T—h— 0.000311 0.000311 60.46 %%7?:?)%{@@;%%;5%@&
. REBEZFEALTVIEEED
A0562  [MGCIHJLF¥—(#) 0.000425 0.000425 7295 | smEnih At o
A0565 |BETI=vHRBHHE) 0.0004293% 0.0004293% —
A0566  |HA LABHERSH 0.000518 0.000518 100.00
A0567  |(BR)E{EEEN 0.000459 0.000459 100.00
A0570  [/\IBEE(¥) 0.000341 0.000341 100.00
A=a1—A 0.000000 0.000000
- _ A=—31—B 0.000000 0.000000
AosT BLTATHRLF—(H) A= a1 —C(BEE) 0.000077 0.000077 100.00
(BEE)EEELRK 0.000076 0.000076
A0572  [(#)1 7 0.000617 0.000617 100.00
A0573 [IkEBAHEX - T+P—vYa—3a @) 0.000250 0.000250 100.00
A=a—A 0.000000 0.000000
A0577  |AAFIH 5L TAE (%) A= 1 —B(EE) 0.000321 0.000321 100.00
(BEE)EXELRK 0.000300 0.000300
A0578 |[EXWI+P—#) 0.000539 0.000539 100.00
A=a—A 0.000270 0.000270
A=31—B 0.000000 0.000000
A0S81 ST F T —(#) A= 1 —C(EE) 0.000336 0.000336 100.00
(BEE)EXELRRK 0.000309 0.000309
A=a—A 0.000368 0.000368
A0582  [TERA Energy(¥k) A= 1 —B(EE) 0.000000 0.000000 100.00
(BEE)EEXELRK 0.000367 0.000367
A=a1—A 0.000000 0.000000
A0584  [MCPD(4k) A= 1 —B(EE) 0.000000 0.000000 100.00
(BEE)EXELRK 0.000000 0.000000
A0586  [J )= 1T 1 ZIEOL(H) 0.000587 0.000587 100.00
A0587  |(B)EHEAMIE 0.000341 0.000341 100.00
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[IVFEEREES]
spEs ERERES XZ2-8 T | REELAN | Eane | EETIED KBS
A0589 [R¥— kI FU—HERMHR) 0.000000 0.000000 100.00
A0590  [fBIIRET FP—(#) 0.000148 0.000148 100.00
A=a1—A 0.000000 0.000000
- *=1°B 0.000000 0.000000
A05%6 | EBTREII(K) A= 1 —C(BE) 0.000640 0.000640 100.00
(BEE)EEXELRK 0.000324 0.000324
A0598 YR R FTORT 1 —R(8) 0.000591 0.000591 100.00
A0602  |[(#R)IEBREN 0.000470 0.000470 100.00
A= —A 0.000000 0.000000
*=21—B 0.000149 0.000149
A0B03 [NV T—=RD—b+L—TF 1 VT ERASH A=2—C 0.000283 0.000283 100.00
A= 1 —D(EE) 0.000613 0.000613
(BEBEEHEEHK 0.000416 0.000416
A0B05  |(#)E>H Y 0.000605 0.000605 100.00
A0609  [(BR)SFHK 0.000486 0.000486 100.00
A0610  [EREH(#) 0.000478 0.000478 100.00
A=a1—A 0.000000 0.000000
A=31—B 0.000153 0.000153 - R
A0611  |RE1 0 OBH(E) FELE 6.000561 0.000591 23.49 Lf"ﬁ%*&ﬁ?}f‘gﬂﬁ@%i%‘ﬁ‘ 5
. o < °
A =21 —D(BEE) 0.000546 0.000546
(BEBEEELKE 0.000392 0.000392
A0612  [ARIRILF—T7—L(Hk) 0.000432 0.000432 100.00
A0B15  |[(#R)A—Fv kT—% 0.000418 0.000418 100.00
A=a1—A 0.000000 0.000000
A=21—B 0.000000 0.000000
A0617 |RY—hFIaIHT—(%) A=31—C 0.000000 0.000000 100.00
A =2 —D(BEE) 0.000282 0.000282
(BEE)EXELH 0.000000 0.000000
A0620  |(Bk)LENETS 0.000597 0.000597 100.00
A=21—A 0.000000 0.000000
- A=21—B 0.000561 0.000561 BREIPRBEOEEEISDZ
AB22 |7 A TR I—(H) A= 21 —C(RE) 0.001356 0.001356 38 mpts
(BEBEEEEK 0.000182 0.000182
A=a1—A 0.000000 0.000000
A0B24 ()T HRI L A =1 —B(EE) 0.000341 0.000341 100.00
(BEBEEEEK 0.000340 0.000340
A0B27 |24 >T v o SABRES 0.000609 0.000609 100.00
A0629  |HiEHFR(EK) 0.000430 0.000430 100.00
A=a1—A 0.000000 0.000000
A0630  ((B)Z4Z TA TAE A= a1—B(EE) 0.0004293 0.000429% 100.00
(BEBEEEEK 0.000429% 0.0004293%
A= 1—A 0.000000 0.000000
A0631  |RABT ) —> T+ S—(#%) A= a1—B(EE) 0.000384 0.000384 100.00
(BEBEEEEKE 0.000382 0.000382
NN - A=1—A 0.000000 0.000000
A0632 |(#)A—FRITU—2IFT GEREEEESE & 666560 & 660660 100.00
A0636  |AEEWHRAMEI—TLEHD 0.000226 0.000226 100.00
A0637  |FtSHBIFC—ARSRH 0.000352 0.000352 100.00
A0639  [BEFAREH(H) 0.000341 0.000341 100.00
A0640  |FREH R (#) 0.000612 0.000612 100.00
A0B41  |H)=AIDWEBIZIa=F (/87— 0.000291 0.000291 100.00
A=a1—A 0.000000 0.000000
A=a1—B 0.000256 0.000256
A0B42  |FHBR TV IF O—(¥) *=2—C 0.000138 0.000138 100.00
A= 21 —D(EE) 0.000273 0.000273
(BEBEEEEK 0.000206 0.000206
A0644 [T —2E—TILXIRT—(#) 0.000608 0.000608 100.00
A0648  |B)RIWLA4 27 UT4—X 0.000398 0.000398 —
A0B49 [T v 0.000515 0.000515 100.00
A=a1—A 0.000000 0.000000
A0B50  |(H)EZ F LB EE) 0.000709 6.060705 99.97 ﬁ%?‘gg{E”%%ﬁ"b”ﬁ
(BEB)EEEEKE 0.000438 0.000438 -
A=a1—A 0.000000 0.000000 e ‘
A0B53  |NTT7/— KT+ U—(#) F LB EE) 6.000448 6.000448 80.41 %%7/3:;(;51@@;%%#;3@%
(BEBEEELKE 0.000089 0.000089 -
A0654 |27 — FERMHE) 0.000347 0.000347 100.00
A0655  |[(B)EZ/RXT—HR—ILTa4 VIR 0.000553 0.000553 100.00
A=1—A 0.000000 0.000000
A=31—B 0.000424 0.000424
A0B56  [(#k)7 ) — U I RILXF—RAWHER A=a1—C 0.000407 0.000407 100.00
A= 2 —D(BEE) 0.000519 0.000519
(BEE)EXELH 0.000420 0.000420
A0659  [(#R)A DD/ — 0.000000 0.000000 100.00
A0660  |UNIVERGY () 0.000560 0.000560 100.00
A0661  |[JREHAREEY—ER(#) 0.000230 0.000230 100.00
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[IVFEEREES]
sRES BEERES XZ2-8 T | REELAN | Eane | EETIED KBS
A= 1 —A 0.000000 0.000000
A=31—B 0.000219 0.000219
A=31—C 0.000272 0.000272
A=31—D 0.000328 0.000328 o o
A0BB4  |FTHNLT Yy R Py E 0.000350 0.000350 97.76 ﬁ%ﬁjg%@ﬂ%ﬁ‘ D%
A= 1— 0.000373 0.000373 =
A= 1 — G 0.000413 0.000413
A= 1 —H(EE) 0.000600 0.000600
(BEE)EXELRK 0.000502 0.000502
A= 1 —A 0.000000 0.000000
A0666  |(H)BEAIMSEIF/NT—X A= 1 —B(EE) 0.000565 0.000565 100.00
(BEE)EXELRK 0.000547 0.000547
A= 1 —A 0.000000 0.000000
A0667  |FzAT=ATFS—(#) A= 1 —B(EE) 0.000341 0.000341 100.00
(BEE)EXELRRK 0.000000 0.000000
A= 1 —A 0.000000 0.000000
A0668  |(¥k)HEZS - BREEH O Y A =1 —B(%%) 0.000000 0.000000 100.00
(BEE)EXEL2RK 0.000000 0.000000
A0670 ()BT HRBEES 0.000099 0.000099 —
A0673  [(BR)Z ¥k y FH—EXRA/R=L 3y 0.000499 0.000499 100.00
A0676  |KBN(%k) 0.000630 0.000630 100.00
A0677  |H)LBEWEH 0.000445 0.000445 100.00
A0680  |REIFT—(%) 0.000134 0.000134 100.00
A0681 SAREKIRILF—(¥E) 0.000536 0.000536 100.00
A0683 [k BENEI X (%) 0.000326 0.000326 100.00
A0685  [BERIEH L&A T RILF—(4) 0.000446 0.000446 100.00
A0687  |(#)F¥—L K547 0.000548 0.000548 100.00
A=a1—A 0.000000 0.000000
A0689  [RB—T 1 7 () A= 1 —B(EE) 0.000589 0.000589 100.00
(BEE)EXELRK 0.000588 0.000588
A0B90  |HEBRT— kT ARILE—() 0.000417 0.000374 1.28 %%”_‘ﬁogﬁ”g*%”‘b”’&
A=a1—A 0.000328 0.000328
A=31—B 0.000595 0.000595
A=31—C 0.000387 0.000387
A0692  (FBAERL() A=31—D 0.000313 0.000313 100.00
A=a1—E 0.000321 0.000321
A=a1—F 0.000000 0.000000
(BEB)EEEEKE 0.000398 0.000398
A0693  [FRFIA R (#) 0.000405 0.000405 100.00
A0695  [KM/ST— (%) 0.000553 0.000553 100.00
A0696  |(#)Okazaki 0.000343 0.000343 100.00
A=1—A 0.000000 0.000000
A=31—B 0.000253 0.000253
A0698 ()T TIA > A=31—C 0.000338 0.000338 —
A=31—D 0.000342 0.000342
(BEBEEEEKE 0.000179 0.000179
A0699 (BB BEH 0.000299 0.000299 100.00
A0702  [JBRILEHR(#E) 0.000521 0.000521 100.00
A0703 |[JREFL—F 4 > 5 (#) 0.000353 0.000353 —
A0704 Castleton Commodities Japan®& & & #t 0.0004293% 0.0004293% —
A0705  |#FEH(#) 0.0004293% 0.0004293% 100.00
A0708 |[T7 - A—8—-547YYa—av#f) 0.000434 0.000434 100.00
A=a1—A 0.000332 0.000332
A0709 |£FEHBEAMEVALE A= a1—B(EE) 0.000229 0.000229 100.00
(BEBEEEEK 0.000231 0.000231
A0711__|(#k)RenoLAbo 0.000585 0.000585 100.00
A0712  |[7—2TLTH/70S—X(#k) 0.000052 0.000052 100.00
AOT14 | TR w5 () 0.000524 0.000524 86.27 z%ﬁ_‘ﬁgﬁw$¥%ﬁ”’®§
A0715  |(#)A XTF+o— 0.000444 0.000444 100.00
A0716 LEVHR(HE) 0.000439 0.000439 100.00
A0718  |(Bk)B &K 0.000342 0.000342 100.00
A=31—A 0.000000 0.000000 e g N
AOT20 | LB < EFEAM)(IB:(H)afterFIT) P 0000429 0.000429 9639 |RBNBHEORREMEOZ
(BEB)EEEEHR 0.000109 0.000109 -
A0721 PN E IR () 0.000524 0.000524 100.00
A0722 (Y bSRS—IXH—ERFREH 0.000496 0.000496 100.00
A0726 [N\FRI>T=¥1) > 5 (#) 0.000000 0.000000 100.00
A=a1—A 0.000000 0.000000 o R
AO720 | A () FE B 6.000678 0.000678 69.80 %%?_‘ggﬁag%%b‘b“%
GEEFEESK 0.000426 0.000426 -
A0730 [ E CISHEN (%) 0.000451 0.000451 100.00
A0732 |(#)ENSEHRTFIFO— 0.000000 0.000000 100.00
A0733 |BEAIEEH(E) 0.000380 0.000380 100.00
A= 1—A 0.000000 0.000000
_ . A=31—B 0.000259 0.000259
AOTT ()T AT LTI~ A= 1 —C(BE) 0.000416 0.000416 100.00
(BEE)EXELRK 0.000307 0.000307
A0738  [(R) T IN—TTFHT— 0.000528 0.000528 100.00
A0739 [BiHl=a—IF+P—(%) 0.000478 0.000478 100.00
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[IVFEEREES]
spEs ERERES XZ2-8 T | REELAN | Eane | EETIED KBS
A0740 £ & LEHH) 0.000471 0.000471 100.00
A0742  [(BR)BA 0.000484 0.000484 100.00
A0743  [T&TI+P—(#) 0.000440 0.000440 100.00
A=a—A 0.000000 0.000000
A0744  |(#)L—2 A= 1 —B(EE) 0.000194 0.000194 100.00
(BEE)EXELRK 0.000193 0.000193
A0746 A IFAOIRTE/ ST —(#) 0.000000 0.000000 100.00
A0747 __[SustainableEnergy#) 0.000488 0.000488 100.00
A0748 [HOEE KIFLEHE) 0.000246 0.000246 100.00
A0752 (4108 =+t rSLILEEGRE) 0.000438 0.000438 100.00
A=a1—A 0.000474 0.000474 N .
A0753  |[th—LA U ITFH O—(%) A= 1 —B(EE) 0.000604 0.000604 86.93 gfb‘ffw’%}aﬁ?fg’rfgé *®
(BEB)BEELHR 0.000597 0.000597 " e
A0754 |[(BR)EOETAE 0.000576 0.000576 100.00
A0758  |(#k)HPEIRILF— 0.000605 0.000605 100.00
A0759  [(#&)V ) —r R Fr—21 0.000611 0.000611 100.00
A0760  [=RIEE(#) 0.000593 0.000593 100.00
A0761 (#) B &P 0.000425 0.000425 100.00
A0762  |=MEHH) 0.000451 0.000451 100.00
A0764  |;hiB%7 T REASE(FE) 0.000578 0.000578 100.00
A0770 [(BR)IFEL EA 0.000406 0.000406 100.00
A0772 ()T X2 0.000334 0.000334 100.00
A0781 HADRES 0.000583 0.000583 100.00
A0783  [(B)FREH 0.000480 0.000480 100.00
A0785  |(#)VAVT14TSR 0.000432 0.000432 100.00
A0786  |Y.W.C.(%) 0.000465 0.000465 100.00
A0792  [(BRMTIFP— 0.000409 0.000409 100.00
A=a—A 0.000000 0.000000
. . A=31—B 0.000165 0.000165
A0793  [TGA Y bRRITFT—(4k) TR 6500588 oo5a8E 100.00
(BEE)EXELRK 0.000071 0.000071
A=a—A 0.000000 0.000000
A0796 |RIABHIBLT 1 7 (%) A= 1 —B(EE) 0.000529 0.000529 100.00
(BEE)EXELRRK 0.000528 0.000528
A0798 () I735T— 0.000454 0.000454 100.00
A0799  [EEHCF v ERILIFO—(¥) 0.000000 0.000000 100.00
A0800  |(#)Meisin 0.000557 0.000557 100.00
A0802  |KIEE SHRHH— () 0.000000 0.000000 95.93 %%;’;ggﬁ@sgﬁ%b‘ ek
A0B03  [HES—TILES 3 U(#) 0.000593 0.000593 70.91 %%‘gﬁgg@@g#%m bD%
A0806 WF L BEUEN(FE) 0.000102 0.000102 100.00
A=a1—A 0.000000 0.000000 o
A0B07  |EEREH(EE) Py 0.000406 0.000406 1.7 E‘;f";fggﬁ@$¥%h‘ D%
(BEEEEESH 0.000383 0.000383 =
A=a1—A 0.000000 0.000000
A0808  [FHE S A b/ —(¥) A= 1—B(EE) 0.000057 0.000057 —
(BEBEEELNR 0.000010 0.000010
A0809  |HBILEH () 0.000497 0.000497 100.00
A0810 |7 UWhEE(#) 0.000456 0.000456 100.00
A=a1—A 0.000000 0.000000
A0812  [&IRIF D— (%) A= 1 —B(EE) 0.000386 0.000386 100.00
(BEBEEELNK 0.000385 0.000385
A0817 |(#)EAEIFO— 0.000446 0.000446 100.00
NN csaen A=a1—A 0.000000 0.000000
A0BT9 (RIR—H LR - Trsiy (BEE)EXELRK 0.000000 0.000000 100.00
A=a—A 0.000000 0.000000
A0820  ((#&)7 v k A=—31—B 0.000000 0.000000 100.00
(BEE)EXELRK 0.000000 0.000000
A0821 DA - AR—R(4) 0.000592 0.000592 100.00
. A=a1—A 0.000000 0.000000
A0822 IR IR (H) (BEE)BEELK 0.000000 0.000000 B
A0824  |(#)IQg 0.000463 0.000463 100.00
A0825 IF+S—H%TS54(%) 0.000504 0.000504 100.00
A=a1—A 0.000000 0.000000
A=—31—B 0.000000 0.000000
A=31—C 0.000187 0.000187
A=31—D 0.000224 0.000224 FBUNRBEOSEENALDZ
A0B26 | (HR)FPS A= a1—E 0.000313 0.000313 9335 BED=&
A=a—F 0.000396 0.000396
A1 —G(EE) 0.000592 0.000592
(BEE)EXE2RK 0.000576 0.000576
A0827 | KKED D DATBHMHE) 0.000308 0.000308 100.00
A=a1—A 0.000249 0.000249
0829 |(#RIL Y T2 BEBFEELH 0.000249 0.000249 100.00
A=a1—A 0.000000 0.000000
A0831 BELFHENG) A= 1 —B(EE) 0.000550 0.000550 100.00
(BEE)EXELRK 0.000491 0.000491
A0835  [AIREZE(H) 0.000405 0.000405 100.00
A0838 |(#&)stc 0.000907 0.000907 100.00
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UNFEEREEE]
= = - _ BEWRHRLRS | AEREURE | s:280 < =
ERES BIEXES *=a1-% (tCOL/KWh | (-CO/kWh) | IEER%) IBBTERD SIS
s A=a1—A 0.000030 0.000030
A0B39 (RITETF T BEBFEELH 0.000030 0.000030 100.00
s . A=31—A 0.000000 0.000000
A0840 [F—RUTFILVYa— 3 R () EEEEEESH o555 e 100.00
A0843 [V Y RHIFT—(#%) 0.000599 0.000599 100.00
A0844  |MEH 4~ FRH D LEH(HE) 0.000000 0.000000 —
A0B47  [HIBHL - H—BTFT—(#) 0.000522 0.000522 100.00
A0B49  [HES(#) 0.000381 0.000381 100.00
A0851  |(#)BE& 5 WEH 0.000000 0.000000 100.00
A0852 SV U—VIFT—(#) 0.000334 0.000334 100.00
A=a1—A 0.000355 0.000355
AL A S NVE
A0BS | MBRIZH B LRSI (BEBEEELH 0.000355 0.000355 100.00
A=a1—A 0.000132 0.000000
R (BEBEEELNK 0.000132 0.000000 100.00
A0863  |(R)# 0.000582 0.000582 100.00
A0865  |HILIRILF—H—ER(#) 0.000000 0.000000 —
A08B66  |(M)WELEIFO— 0.000275 0.000275 100.00
A0867 A DRT— /T —() 0.000139 0.000139 100.00
A0868  |(#R)RY L ity —ER 0.000499 0.000499 100.00
(xR EEEE]
= ELREHEH R BEEFHRY SBEED =
BS BRBREE (t-CO2/kWH) (t-CO2/kWH) EER %) RATEsN SIEH
1BEENF Y FT—2 (%) 0.000423 0.000423
2EAEHFY FT—5 () 0.000423 0.000423
SEREN/NT—F v F(#k) 0.000423 0.000423
A hBEHRNT—T U v F() 0.000423 0.000423
5|LBETE NiE B E (%) 0.000423 0.000423
6|RA7E B S ERE (%) 0.000423 0.000423
TFEEAR Y FT—0 () 0.000423 0.000423
8|MEE N:%EE(#) 0.000423 0.000423
9| FLINTE % ELE (#k) 0.000423 0.000423
104 BB 0.000694 0.000694 so7g |FUNLBMOFRANLOR
(—IXERBBES) ORSS, BRFBIGECIRBHRIEESI T 3BSICEMTIRATY,
BB D—ERREE RS IETIIRLERA L THRS « ARLTNET.
REIE [ 0.000422 |

BREHHEDRE LICIHEGIEERMMICRDER
ORFEHHEL. BEENRAAEEHLE ERFLEE) MUBERBENRAIFLEDBECHNT, JHMEOBR_BCIRRIBESE GHEBIESNE KWh) X £BTIIREA
(t-CO/kWh) XBIER) &, EIBHEENS I\FHIESNIZERDERICH > THRET DI BRILRRDHHEE LIRICIEF TS ENTEFET,

) BRT7FEORS (BN6FERD (CHEATIFTHERSIOIFTHIERE, HH7F7BEICARTETT.

2 EFHFHEK(-CO./kWh)

0.000423

FIT#HIE 3

FEFITHHIER
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